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XMOS Form
crc = init3 [ init2 | init1 init0
if true then xor poly

L poly [
—>» 0 init3 | init2 | init1 init0
—> 1 0 init3 | init2 init1
—>» 2 1 0 init3 init2
—>» 3 2 1 0 init3
—>» final0 3 2 1 0

finall finalO 3 2 1
—> final2 finall finalO 3 2
—>» final3 final2 finall finalO 3

crc =

Standard Form

init3 | init2 | init1 | init0
if true then xor poly @ Bit 0
=
‘0 init3 | init2 | init1 init0
if true then xor poly ®(_ Bit 1
=
"1 ‘0 init3 [ init2 init1
if true then xor poly @ Bit 2
=
'2 1 ‘0 init3 init2
if true then xor poly @ Bit 3
=
'3 2 1 ‘0 init3

Finally, xor final_xor_val...




